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Warm Up

Find all missing side lengths

(leave answers exact)
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Random HW Quality Check

« Turn in the assignment that was due yesterday.

(. 4ba-\1)

« Justyour HW paper, no score necessary yet.

ttave one person trom your group:
Pick up your Ferris Wheel data and graph from the last class.

Then explain what we did to anyone who was absent ! If absent, you do not
have to make up this particular activity, but you do need to understand it!




April 19, 2016

We created a new parent function called the:

The Sine Funchon
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The ground is indicated by the GREEN line!
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The Sine function is the connection between the
heights above (and below) the midline AND the
angle of votation (6)

L the Greek letter 0
Yhetoo

The connection happens because at every point
a[ong the circle (well almost each point), you can
make a Vight ’criang[e with the height and the
ang[e p
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\. We collected periodic data (heights around the circle)

’/ We plotted those heights against the various angles of
rotation.

P TEXAS INSTRUMENTS

\. We collected periodic data (heights around the circle)

7 We plotted those heights against the various angles of
rotation.

(P TEXAS INSTRUMENTS

\‘? TEXAS INSTRUMENTS

We then graphed the function h (9) = c:)m@
cad i G prety well.




April 19, 2016

Piee
/(DOV 5 o epen +he  connecticn
between fhe heights  of ponts

O\rOUr\é o avcle. (with o vadis :\)

and He Oncs\e of votahon.

T “odays octivity !

You will be measuring the

heights of vertical segments

around a circle. Those
segments represent
heights
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Try to finish in 30 minutes
-Each person pair will turn in their own.
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The Sine Function y=sin(s)
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Assighment: 7,...24-30, 32
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